Best model for HELP J003800.733-425145.717 at z = 0.801 y2=1.45
OPTx2=1.43 IRx?=2.02 threshold (OPT IR)=14.41 [um]

, 1 : Stellar attenuated
10 E S T Stellar unattenuated
] : —— Dust emission

] 1 —— AGN emission
1] = Model spectrum
10 E ® Model fluxes
] M oObserved fluxes
— 0 E
= 10
£ ]
-1

X E
E 10 3
o E

10—2 4

10—3 4

bad

5 ]

071 5

© 1 mfe= (Obs-Mod)/Obs

=}

o

G ] R

o O0+==-1T¥-t=pks-—-—--—->F--1V/fF-—-————"—"———"—=======-

o ]

) ]

2 ]

S ]

© -1 T T — T CIGAL

2

10° 10t 107 103 104 A
Observed wavelength [um]



